–(–25) + (+30) + (–80) – 30 =+ 25+30-80-30= 55-110=-55
(–8) – (+8) – (+8) + (–8) – (+8) =-8-8-8-8-8=-40 
 3 + 2 – 6 + 5 – 9 - 12=10-15=-5
-15 – (–51) + (–49) + 5 =-15+51-49+5=-64+56=-8
–(–5) + (-30) + (–80) – (-30) =5-30-80+30=-75
0 – (59 + 41) = 0 – 100 = -100                                 (– 5 – 9) + 12 =  -14 +  12
(0 – 59) + 41 = -59+41=-18                        – 4 + (–6 – 2) = -4-8=-12            – 4 – (6 – 2) = -4 - 4= - 8
– 5 – (9 + 14) =-5-23=-28                      (15 – 6) – 10 = 9-10=-1                    15 – (6 – 10) =15-(-4)=15+4=19  

Egy kis játék: rakd csökkenő sorrendbe      ISKOLA
A	- 15 + (-8) = 	                  S	    15 + (- 8) =		I     31 – (-6) =
  K	12 + (-12) =                      O	     4 –17 =                            L        - 7 –10 = 

